SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 19, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.16739

WBS ELEMENT NO.: 13RE.108115, 13RE.208115, 13RE.208125

FEDERAL AID NO.: STATE FUNDED

COUNTY:

RUTHERFORD

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

1-1410 151

NAME OF BIDDER

P.O. BOX 1527 Forest City, NC 28043

ADDRESS OF BIDDER

Contract Number:

D13POC.RE.16739

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.108115, 13RE.208115, 13RE.208125

Description:

Long Arm Mowing Upon Request

County:

Rutherford

Mary Control of the Control	Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
	2	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	70	SMI	300	21000
	3	SP	Long Arm Mowing - Undivided Primary Routes	212	SMI	300	63600
3	A	SP	Long Arm Mowing - Secondary Routes	615	SMI	300	184500
Į							

TOTAL B	ID FOR	PROJECT:	#2	691	00
			1.		

Contractor: Little is Enterprise LC
Address: P.D. Box-1527 Forest City NC 28043
Phone: 828-429-5722 Federal Id: 46-2992143
Contractor's License Number:
Authorized Agent: Title: MRg Member
Signature:

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 19, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.16739

WBS ELEMENT NO.: 13RE.108115, 13RE.208115, 13RE.208125

FEDERAL AID NO.: STATE FUNDED

COUNTY:

RUTHERFORD

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING. HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Flat Rock NC

Contract Number: D13POC.RE.16739

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.108115, 13RE.208115, 13RE.208125

Description:

Long Arm Mowing Upon Request

County:

Rutherford

Delegation of the Control of the Con	Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	x	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	70	SMI	330	23/0900
	8	SP	Long Arm Mowing - Undivided Primary Routes	212	SMI	315	66780.00
	A	SP	Long Arm Mowing - Secondary Routes	615	SMI	320	196800.00
ı							

TOTAL BID FOR PROJECT:_	\$ 786680.00
TOTAL BID FOR TROJECT.	# 208000 TOO

Contractor:	slythe's Ma	sully In	C	
Address: 107	18 Summit	Springs Dr	flot Rock	
Phone: 828	693 5399	Federal	Id: 99-294	0166
Contractor's Licen	se Number:			
Authorized Agent:	Blyth	4166	Title:	DriSiLat
Signature:	DA	5	Date:	, ,

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 19, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.16739

WBS ELEMENT NO.: 13RE.108115, 13RE.208115, 13RE.208125

FEDERAL AID NO.: STATE FUNDED

COUNTY:

RUTHERFORD

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED, BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Matco Contracting I

NAME OF BIDDER

914 East Buffalo Kd Robbinsuille, NC 2877

ADDRESS OF BIDDER

Contract Number:

D13POC.RE.16739

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.108115, 13RE.208115, 13RE.208125

Description:

Long Arm Mowing Upon Request

County:

Rutherford

Line No.	Sect	Description	Quantity	Unit	Unit	Amount
2	SP	Long Arm Mowing with Truck Mounted	POPMENT NEWSCOOL		Price	Bid
		Attenuator - Divided Primary Routes	70	SMI	\$500.00	\$35000.00
3	SP	Long Arm Mowing - Undivided Primary Routes	212			\$ 76,300
A	SP	Long Arm Mowing - Secondary Routes	615			
		J Toutes		SMI	\$340.00	\$ 209,100.0

TOTAL BID FOR	R PROJECT: <u>\$320,420.00</u>

Contractor:	utco	0	ntrac	120	Tre.
A 11 01/1		0		7	10

Address: 914 East Buffulo Rd Lobbinsville NC 28771

Phone: 878-735-0861 Federal Id: 88-4367833

Contractor's License Number:

Authorized Agent: Styler Matteson Title: Project manager

Signature: Date: 2-18-25

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 19, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.16739

WBS ELEMENT NO.: 13RE.108115, 13RE.208115, 13RE.208125

FEDERAL AID NO.: STATE FUNDED

COUNTY:

RUTHERFORD

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Contract Number: D13POC.RE.16739

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.108115, 13RE.208115, 13RE.208125

Description:

Long Arm Mowing Upon Request

TOTAL BID FOR PROJECT: \$ 365,80000

County:

Rutherford

Mis	
Eff	1
. /	2

	Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	x	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	70	SMI	500	35,000
2	3	SP	Long Arm Mowing - Undivided Primary Routes	212	SMI	400	84,800
3	A	SP	Long Arm Mowing - Secondary Routes	615	SMI	400	246,000

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 19, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.16739

WBS ELEMENT NO.: 13RE.108115, 13RE.208115, 13RE.208125

FEDERAL AID NO.: STATE FUNDED

COUNTY: RUTHERFORD

TIP NO .: N/A

MILES: N/A

ROUTE NO.: VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION: **VARIOUS**

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

PANGER Rd. MURPHY, NC 28906

Contract Number: D13POC.RE.16739

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.108115, 13RE.208115, 13RE.208125

Description:

Long Arm Mowing Upon Request

County:

Rutherford

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
X	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	70	SMI	500.00	35,000,0
3	SP	Long Arm Mowing - Undivided Primary Routes	212	SMI	500.00	
A	SP	Long Arm Mowing - Secondary Routes	615			307500

TOTAL BID FOR PROJECT:	448,	500	00
------------------------	------	-----	----

	M -1 A	MO
Contractor:	MATTHEW (IIINKAS
Contractor.	THE THOU	. II CHITC

Address: 1535 RANGER Rd. MURPHY, NC 28906

Phone: 828-361-7135 Federal Id: 55# 243-89-0474

Contractor's License Number: VENDOR # 5300

Authorized Agent: MATT HEW C. MCRAE Title: OWNER